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QUESTION 1

There are several interesting things to note about normal profit: Note: There are 3 correct answers to this question. 

A. The normal profit of category is independent of the target values themselves will not change 

B. A consequence of 1 is that this metric is resistant to outliers: when there are a few 

C. occurrences of the target with very high values with respect to the rest of the target value distributions, the notion of
normal profit is not impacted. 

D. To test the latest version of the application without impacting the current production environment. 

E. The weighted sum of the normal profit for all categories of a given variables will always be 0. 

Correct Answer: ABD 

 

QUESTION 2

Obtaining a better model is achieved by: 

Note: There are 3 correct answers to this question. 

A. Improving the prediction confidence of the model 

B. Improving the predictive power of the model 

C. System authentication is to be used through Pluggable Authentication Module (PAM). Access to Linux System
account password required root privileges. 

D. Improving both the predictive power and he prediction confidence of the model. 

Correct Answer: AB 

 

QUESTION 3

The Contributions by Variables plot allows you to examine the relative significance of each of the variables within the
model. On this plot, each bar represents the contribution of an explanatory variable with respect to the target variable.
The following four types of plots allow you to visualize contributions by variables: 

Note: There are 4 correct answers to this question. 

A. Variable Contributions, that is, relative importance of each variable in the built model. 

B. Variable Weights, that is, weights Guides and Scenarios Modeler P U B L I C 97 

C. Smart Variable Contributions, that is, the variables internal contributions. Automated Analytics User Guides and
Scenarios Modeler P U B L I C 97 

D. Maximum Smart Variable Contributions, that is, the maximum smart variable contributions including only the
maximum of similar variables. For example, only binned encoding of the continuous variable age will be displayed. This
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is the chart displayed by default. 

E. Perform various analyses and build models on the data, including time series forecasting, outlier detection, trend
analysis, classification analysis, segmentation analysis, and affinity analysis. 

Correct Answer: ABCD 

 

QUESTION 4

For formats are supported for the Date column: Note: There are 4 correct answers to this question. 

A. datetime (ISO format: yyyy-mm-dd hh:mm )which has an hour-precision. 

B. date (ISO format: yyyy-mm-dd) which has a day-precision. 

C. Number(number, for example "seconds") 

D. Java Runtime Environment installed on the client machine to connect to the server. 

Correct Answer: ABCD 

 

QUESTION 5

The importance of a category depends on both its difference to the target category mean and the number of
represented cases. High importance can result from any of the following: 

Note: There are 3 correct answers to this question. 

A. A high discrepancy between the category and the mean of the target category of the target variable 

B. A minor discrepancy combined with a large number of records in the category 

C. A combination of both 

D. recise scheduling of main industrialization tasks 

Correct Answer: ABC 
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